3 9DIN

38 712N



VN NN

J:R3 = R mspna Mmay f(z,y,z) = 0 nxnwn "y nny R?—2 nown
MaNia et f Ndvw U n22aoav nmpd pg = (&g, Yo, 2g) >N

NN pp NTIPIA Nt NOYND PPYNN NYNN DNNYN

fz(po)(x — x0) + fy(po)(y — v0) + f2(po)(z — 20) =0

NIN Nt NPna el DN ax + by + cz + d = 0: NN MW INNYNY 1Dt
(a,b,c) 2 p ,0TPRN MO

(fz(po), fy(po), f(po)) BN SNMNY 52P)y ,pPrunn Mewnn Sv Npna

00 MATIN MO Y WIAIN AN NIN PYNN MYINN



Mt NOWYNY Pwnn NwnnY 10 22 + y? — 2

f=

—2z

9N

2 =1 nowNa pp MMPIN 92 NN INNN

T4 y4+z=1 wnd 2apn pg NTPM

)N
TPNPNA VTN NVYNI NP po = (2¢, Yo, 20) NN

fla,y,2) =2 +y* =2 — 1

N NPPONN MATIN

y =2y fr=2x



(2x0, 2yp, —2z¢) TP PPYNN NMWNS HNIN OV NTIPIA 1PN

JOAN0YD 0MON DNV OO 1N ON D22apn MY n [ Nyd

NOWYNA pg MMPIN 25 NN vam DY (1,1, 1) XMz + v+ z = 1 Mmend dnaan
W To

a-(1,1,1) = (2z0, 2y0, —220)

02

DPPNND TN 193 ,NVYNN DY MOV ATIPIN ,NYD

o +ys—25—-1=0



sl

l‘lg !'12 ﬂ-i_
s 7771

a = +2 19,
N YINTN DN NMYPRY MTIPIN PNV 1ON

(1,1,-1),(=1,—1,1)



M7 DYP-1XP P2

NMYn NiINTaln NXMon (|X'onn nXMun

foer oo foren )
H=| +

fIn-I:l e fl'nl:ﬂ )

, fIin = fljl 07PN 1 < 7,7 < n 222 ,JPANNINYT PXPNONY NONY 17 1Y

P00 NN¥VN H 1o,



M7 DYP-1XP P2

NI 1 2TON 'WUXIN MDD Aaxon A 'nN 'wXlamnm

A DS narbyn moONnYn N»9a ¢ X 1 DTN NNIVNN



M7 DYP-1XP P2

X D"MI'N D'XYN 0'DVN 7D '0I7NT7 NN NxLVn
.D"I'N D"YNXIN DM 7D ,71IPY |9IKA

|I9INQ ,IN D"7'7W DXV D0'DVN 7D 'UI7N7 NY2'7Y DXNLUn
77120 17'X1 D27 DN "AIT-'R 777120 D"UNXIN 0NN L7217
.D"2I'N DN AT




X0 NI

702NV NND DV PPN NINP MTIPY DINNIND TN

MTIPY NINY > TD MYAPNNN MRNYNN DX NN P9,V = 0 N0 N3N NN
MTvN
STNN NNYN S pspnoa f/(x) = 0 »Nond Mpw it
IV MANIN DY NNI0NN INDNN NXIVN DN DPTIA )10N INRD
D0, 2PV 19INA IN) D?2PN D?ANYN DOIYN 22 P ,PVIOND NArN NXIVNN DN
DMPYN NMPI W L,(D»2PN DPYNIN NN

PV 19IND IR) D220V D7NINYN DOIYN DD P L, POIDNY D0V NNIVNN DN
D1M0PN NMPI 1N ,(D221N 21T TN DR D700 DNTIN TN OPYNIN DNPNHN



NNV

NYVYI DYYNY DM MY X0 2w Nrw Dmrn NXYYN
0V0A7'0 |1V YoV

S2IX ' T TR (NTIVNN) 722 narn X710 N7 X7 nxonn DX
12 NN vynY

ORI X NS 1 < i< n My A\; =0 wdet (M;) =0
D200V IN 22PN NN 2197 L,V TN 130 1NN RIOY DD DRD MNMPNN DN IN TIVD DN

NP ON OYTY N 1IN L0, 1, 2, 2 0N 07208YN DOYN NNN0N NP ON ,OWVNID

(D»21N D”NNY DY V2 0D DINPOPN NTIPY XD XRTNA ) 91N IN DY



NON 94N NTIPY 1Y DyTY DX 0,1,2, —6 0N DPN8YN DOIYN DN ,NING Ny

DDV MNNY TV D?2PN DM”NINY DIIY WY

(0tw 1m0 0,1, 2,2 v’y Swnd) IN0NN NIty YION0 1) XD NNNA 12 N8N

TN MINYN DV 1PNPNSD DT NPDY NPYTAY M1 [ T ATipin N0 DR 21T2)



‘9N

AN N0 MNIND DeSPNan pAY, NIPN MTMIPI NN INED
u(z,y,z) =32 +y*+ 22+ 6y —2z+1 .1

NN
NOYNN NN 22PN 0—2 VINTIAN NX MY

Uy = 92° + 6y =0

Uy = 2y + 6x =0

u, =2z2—2=10



NN INONN NN L(0,0,1), (2, —6,1) :MpPIn N ANINav

AN DT R P, 0 >

u

0
6

(T = 6 2 0
U, s 0 0 2

NI Ivn Mennw Yapy L(0,0,1) nmpaa

R )99 D»APN (D»NINYN DOIYN YD IN) DMenn Yovw Yapy (2, —6,1) nTipia

L0y n M2l



a(z,y) = 3(x + y?) + 2° + 4y .2
N'XP22I9N 7Y [IX'PN 171 IR IRXYN

PNINS
NOYNN NN 22PN 0—2 VINTIN DR IMNMY)

Uy =6x — 322 =0

u, =6y+4=20

(2,—2),(0,—%) 0 P¥P5 MTwNn MMpPIn 120
NN INDNN NYIVN

Huz(um uIy)=(6—6$ 0)
Uyz Uyy 0 6



DMPYN NTIPI 1t 129 PPN DPNINYN Iy MY 93Py (0, —%) NTIPIa
AN NTIPY N 19D *Ow v i Dap (2, —%) NTIPMNa



9"n

N 1NTY AN EPNSN MY NP MY INED

flr,y,z) =2 +y* + 2% = 2a°(2® + y° + 2°)

A > ) o

NS
O=2 VTN DN MY oNNA

fr=4z" —4a*z =10

fy = dy® — da*y =0

f.=42"—4a*2 =10



DPONP MMP 27 v D oLy, 2z € {0, a, —a} on7pn mnInany 5apn
N INYDNN NXMI0N

122° — 4a* 0 0
H; = 0 12y% — 4a® 0
0 0 1222 — 427

0NN IR YAy ,(0,0,0) nmpan May

—4a° 0 0
0 —4qa? 0
0 0 —4a*

Omopn NPy 00 (0,0,0) MipIn 195 PVIDND oW AN 1t
NNMONN IR 9273 (Fa, 0,0) MM MTMPI Ny

8a? 0 0
0 —4a? 0
0 0 —4a?



AN MTMIPY 10 MMPIN 129 O»25% 0»Iw) 221N MNY Ty OV NN¥I0Nn 1t
Ao MNPy 30 (0, a, 0), (0,0, £a) mMpin 0y ,AMT 19IN2

=
L

NNI0NN IR 93P (£a, £a,0) nMxN MMP) MNay

8a? () 0
0 Ra* 0
0 0 —4a*

AN MTIPY 0 MTIPIN 199 ,0721N 01 MY TNR MN8Y TIY OV NNHON 1t
AN MNP 30 (Fa, 0, £a), (0, £a, £a) MNP0 03 ,MT 19IN2

=
o

NN IR 22 (+a, £a, £a) NN MNP

8a? 0 0
0 8a2 0
0 0 8a*

D12 MTIPI 19N 1991 POIDNS Marn n¥Ln



27N

PNPNON MY NP NEEP MMTMIPY INND

flz,y) = 3ze¥ —x° — ¥

INPONIDY NP MTIPY 1O OND

:]'I"'l]"li‘:

=59 VINTIIN NN MY

fr=3e¥=32°=0

fy = 3xe? — 3e’Y = ()



(1,0) nTiPn AN 93PN MRXNYHD NN NN

—bx 3e¥
Hy = _
3eV  3xe¥ — 93V

-6 3
3 =6

OMmoPn NTMPa n "|:l‘.'a"l O»9YYY ONMIY OPNNYN OOVN

N INDNN NEA0N

Mo (1,0) NPy

N DY NTIPIA TN NN MTMPY EPNad PR MONID) NNan

F(1,0)=2

TV N 22 (—10,0) nmMpaa Swnd TN

f(=10,0) = 969 > 2

JPONDDY NP PN 19N



‘579N

2% OYINIIDIN DIDPNM DINMNN NN INND

fle,y) =24y’ —ay—22 -2

(0,0),(6,0),(0,6) mmpin on PTIPTIPY ¥v1vNa
:]'I"I]"Iﬂ

.0ra5va NNt YW
DINNN TINA MY MNP van) - YN 25

MYSNNN NNN 92 5y TRR NINYND 2V PPN DY 19V PEPNan Sy 5ono) - nw adv
TVONN DY MTIYN MNP 7O vann

172 L("MNPN DY MINPTN ON) NP0 DTIYN DNYY DTIPTIPN 0) T by a0V
DMININ N DINOPNRN 1NN N AN MTIYNN MTMPIN 20 NN
0=5 VINOTIIN NN MY

fo=2r—y—-2=1



fJy=2y—xz-2=0

(2,2) - nmen nmipl Sapn
PNPNAN NN NP Ly = 0 yoxa wownn myosa an nyd

f(z,0) =2 =2z

(1,0) 0 nMpan M9,z = 1 92pn ,0—=2 mmwn
(0,1) nmpai nx nTwN TP 9ap ,z = 0 yoNn Dy ,nmT 19INa
SPNPNON NN NMPNY 15 Ly = 6 — & NN Town YoND DY NnNvn

flz,6—x)=2"+ (6 —z)° —2(6 — x) — 22 — 2(6 — x)

mial e

flz,6 —z) =32 — 18z + 24



NN (3,3) nmpan Mmoo,z = 3 9ap»n 0= nMwn
MTYN MNP 0N DTPNPN NYIZYY DINN )2 10D
MY MTIVNN MMPINN DNN 922 NPNON TIY NN AT

£(0.6) = £(6,0) = 24

£(0,0) =0

f(2, 2) = —4

f(1,0)= £(0,1) = -1

£(3,3) = =3

D1ryn NP NN (2,2) ampam O omopn mmpy 0 (6,0), (0,6) 19
2IN2D)



